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Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 
2 1 1 1 4 1 1 4 1 4 

Q11 Q12 Q13 Q14 Q15      
2 4 3 1 4      

 

Booklet B 
Q16 48 
Q17 5

21 

Q18 2.4 
Q19 18 
Q20 80 min 

Q21 1 - 1
7

 - 2
3

 = 4
21

 
4u = 24 
1u = 6 
21u = 21 x 6 = 126 

Q22 45
100

 x 880 = 396 

Q23 0.5 x 12 x 16 = 96cm² 

Q24 (5 x 42) – (4 x 32) = 82 

Q25 110 – 12 = 98° 

Q26 ADE = (180 – 40) ÷ 2 = 70° 
CAD = 70 ÷ 2 = 35° 
CAE = 40 + 35 = 75° 

Q27 90 – 20 = 70 
80 – 78 = 2 
70 ÷ 2 = 35 
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! Common multiples of 4 and 6 = 12, 24, 36, 48, 60, 72, 84
No. of cookies Kelly had left = 3 x 12 = 36

028 
Use guess and check method, taking common multiples as Kelly and
Louis' cookies at first
Guess 1: Cookies both had first = 84
Days taken for Kelly to be left with 36 cookies = (84 - 36) + 4 = 12 days
Days taken for Louis to be left with 12 cookies= (84 - 12) + 6 = 12 days
Ans: 84

LEBF = 180° - 66° - 78° = 36° 

029 LBDC = 36° 

LCBD = 180° - 36° - 120° = 24° 

1 row = 12 triangles 
60 + 12 = 5 rows 

030 5 x 4 = 20 cm-► length of 1 side of square . 
20 - 18 = 2 cm 
20 x 2 = 40 cm2 

PAPER2 

01 58.3 g X 40 = 2332 g 
2332 g + 356 g = 2688 g

02 $4200 X 1 . 025 = $4305 
···----· 

03 Area of big triangle = 0.5 x 18 x 30 = 270 cm2 

Area of unshaded part = 270 - 50 = 220 cm2 

04 LADL = 180° - (90° + 70°) = 20° 

LP = 90° - 20° - 20° = 50° 

·----�----------

G + H + F + H = $730 + $638 = $1368 
05 2H = $1368 - $952 = $416 

1 H = $416 -=- 2 = $208

8B - 145 = T 
3B+210=T 

06 8B - 145 = 3B + 210
.. 

5B = 355 
1B = 71 

: No. of beads = (3 x 71) + 210 = 423

I 0.5 x 7 = 3.5u 
3.5u - 2u = 285 

07 1.5u = 285 
1 u = 190 
9u=9x190=1710 

16 km 300 m = 16300 m 
08 / (16300 - 1000)-=- 400 = 38 R 100 

\ $3.50 + $4.20 + $0 .27 x (38 + 1) = $18.23
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Q9 LEDA= 360° -156° -(180° -75°) = 99° 

LADG = 180° -50° -99° = 31
° 

Q10a Day4

Total sales from Day 4 to 6 = 350 + 100 + 250 = 700

Q10b
Amt. collected from adult ticket sales = 

1
3
0 

x 700 x $45 = $9450

Amt. collected from child ticket sales = 
1
7
0 

x 700 x $20 = $9800
Total money collected= $9450 + $9800 = $19250 

$4560 + 6 = $760
($760 X 5) -$760 = $3040

Q11a 5p = $3040
1p = $608
$760 -$608 = $152

Q11b $3040 + 2 = $1520

2 5 5 
Q12a -x-=-

3 6 9 

No. of bowls bought = 8
No. of plates bought = 12

Q12b 12 X $10 = $120
120 1 

--

(360 X 9) 27

Total earned from selling 25 chairs = 25 x $3 + $10 = $85

Q13 $364 + $85 = 4 R $24
$24 + $3 = 8 
8 + (25 X 4) = 108

Q14a Vol. of water at first = ; x 48 x 25 x 16 = 6400 ml
Vol. of water left = 6400 -500 = 5900 ml = 5.9 .e 

Q14b 5900 + 200 = 29 R 100
29 + 1 = 30 

p B Total
3 5 8

= 21 : 35 56
Q15 44u -21u = 1748

23u = 1748
1u = 76
100u = 7600

·······••·· ·•·· 

.... -.. ·············-· 

- --�-------

······-··-·

...... 

.. · ········•·••········ 

··· ····•-······--

·••••••••••••·•••• 

i 

Pg 3 



1 mango = 1u 
1 durian = 3u 
Total units for 17 durians and 14 mangoes = 51 u + 14u = 65u 

016 65u = Sp 
1 p = 13u 
13u - (3 x 3u) = 4u -. 4 mangoes bought with half of remaining money 
Total mangoes bought = 4 + 14 = 18 

Cost of small keychain = $14.80 .;- 4 = $3.70 
O17a Group 1 small and 1 large keychain = $14.80 + $3. 70 = $18.50 

$629 .;- $18.50 = 34 
..... _,. ..... ........ ·-···-·-····· 

18 X $3.70 = $66.60 

O17b 
$529.10 - $66.60 = $462.50 
$462.50 .;- $18.50 = 25 
25 + 18 = 43 
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